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1 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.04 148.45 [3mZx#%25(0.00 ~ 0.04 | 3.02 15.27 | 100kN/m%# 2% | 1.00 |10.54 ~ 27.72 148.45 [3m%F#BZ5[25.00 ~ 27.72 | 3.02 15.27
ZzhnLst 1.00 |3.04 ~ 10.83 100.00 | =#Lkist [0.04 ~ 10.83| 3.00 15.16 Fhst 1.00 | 5.00 ~ 10.54 100.00 | #n k4t | 5.00 ~ 25.00 | 3.00 15.16
9 100kN/mMZH#BZ % 1.00 [0.00 ~ 2.95 146.87 |3mZEBZ 5 — ~ — — — | 100kN/ %825 | 1.00 |10.62 ~ 28.56 146.87 |3mE#B A5 -~ — — —
ZzhnLst 1.00 |2.95 ~ 10.74 100.00 [ Zhist [0.00 ~ 10.74 | 2.96 14.95 Zh st 1.00 | 5.00 ~ 10.62 100.00 | #n st | 5.00 ~ 28.56 | 2.96 14.95
3 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.55 157.40 [3mZi#EZ5[0.00 ~ 0.67 | 3.39 17.14 | 100kN/m%#8x4 | 1.00 |11.00 ~ 33.69 157.40 [3mZ#EZ5|25.00 ~ 33.69 | 3.39 17.14
Zzhn st 1.00 |3.55 ~ 11.34 100.00 [ =gt [0.67 ~ 11.34| 3.00 15.16 Zh st 1.00 | 5.00 ~ 11.00 100.00 | #n st | 5.00 ~ 25.00 | 3.00 15.16
4 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.58 157.87 [3mZE#%5(0.00 ~ 0.76 | 3.46 17.50 | 100kN/m%i#8x5 | 1.00 |11.32 ~ 35.43 157.87 |3m%Fi#BZ5(25.00 ~ 35.43 | 3.46 17.50
st 1.00 |3.58 ~ 11.37 100.00 | =xList [0.76 ~ 11.37]| 3.00 15.16 Fh st 1.00 | 5.00 ~ 11.32 100.00 | #n 4t | 5.00 ~ 25.00 | 3.00 15.16
5 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 3.04 148.44 |3m%EBZ 5 — ~ — — — | 100kN/ %825 | 1.00 |10.60 ~ 29.77 148.44 |3m%E#B A5 -~ — — —
ZzhnLst 1.00 |3.04 ~ 10.83 100.00 | =#Lkist [0.00 ~ 10.83| 2.97 15.00 Zh st 1.00 | 5.00 ~ 10.60 100.00 | #n st | 5.00 ~ 29.77 | 2.97 15.00
6 100kN/m%#8%% | 1.00[0.00 ~ 2.69 142.43 |3m%ZE#BZ D - ~ — — —| 100kN/mi%#8%% | 1.00 |10.85 ~ 27.97 142.43 |3mZEHBZD — ~ — — —
Zzhn st 1.00 |2.69 ~ 10.48 100.00 [ Z#h st [0.00 ~ 10.48| 2.89 14.59 Zh st 1.00 | 5.00 ~ 10.85 100.00 | =4t | 5.00 ~ 27.97 | 2.89 14.59
. 100kN/m%#8%%| 1.00[0.00 ~ 2.40 137.46 [3mEEZB| — ~ — — —| 100kN/mi%#8%% | 1.00 |11.10 ~ 26.10 137.46 |3mZE#BZ 5 — ~ — — —
ZzhnLst 1.00 [2.40 ~ 10.18 100.00 [ Zhist [0.00 ~ 10.18| 2.84 14.35 zhs 1.00 | 5.00 ~ 11.10 100.00 | #n kst | 5.00 ~ 26.10 | 2.84 14.35
8 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 1.43 121.71 |3mZE#BZ 5 — ~ — — —| 100kN/ %825 | 1.00 |12.36 ~ 21.29 121.71 |3mZE#B A5 -~ — — —
ZhnLst 1.00 |1.43 ~ 9.21 100.00 | Zhist [0.00 ~ 9.21 | 2.41 12.18 Zh st 1.00 | 5.00 ~ 12.36 100.00 | Zh st | 5.00 ~ 21.29| 2.41 12.18
9 100kN/mM#ZH#BZ % 1.00 [0.00 ~ 1.80 127.70 |3mE#BZ D — ~ — — — | 100kN/ %825 | 1.00 |11.96 ~ 24.00 127.70 |3m%EHB A5 -~ — — —
ZhnLst 1.00 |1.80 ~ 9.59 100.00 [ #h st [0.00 ~ 9.59 | 2.44 12.31 Zhst 1.00 | 5.00 ~ 11.96 100.00 | Z#h st | 5.00 ~ 24.00 | 2.44 12.31
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhnLst ~ st ~ Zh st ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ st ~ Zh st ~ st ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
Zh st ~ st ~ Zh st ~ Fh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/mZ#BZ % ~ ImEHBZS ~
ZhLst ~ Zzh st ~ zhs ~ Zzh st ~
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